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Spreadsheet with normal appearance

Assumptions

1,000.00£              Original cost of investment
1,900.00£              Current market value

2 Number of years held = N

Computation of annual rate of return

0.378404875 Rate of return as a decimal
37.8% Rate of return as a percentage

Assumptions

1,000.00£              Original cost of investment
1,900.00£              Current market value

20 Number of years held = N

Computation of annual rate of return

0.032613218 Rate of return as a decimal
3.3% Rate of return as a percentage


